Vool 55.3/8.7
_ /%oa/o éZ&-z&&&c;?o (’00/7 7220 ey
Loxarr . . o-
- xgndoﬂ /f/% 077-1 /6(:74’1 g (2-022 g 2/')

— Jfeed- Yo /™ L. /’)64&(:)4.’ /?a/éo/{
/éxé/a_-

/gca// Jé;m (e 7c/o> Zeé;ccs

LTos - Bossal Borsrrcds
Vgé' @/Z // C—OIS ﬁ)/?o/ %Z’Cech
7éen

ape

R+ K(T(E)) < /+ 0).
cohere  7(5)- 1L /F2)

 Shaythinzy of B Sy [Rely B
277

@\'A;ég Voc,
&, > [(Bollls; 2) 0 Ef < 1
[ Boll(% 9() = 2:76 S 7/&[&(7)<9t f
j;ﬁmfc (‘1} 4) £ :x/e.o/ 752 Vg/éw?
o, /&f//x/ w) 2 E) <L &)

# — /Z sea olheg (4 o) P4 C'OO/GW\'O,/F
() ) ‘E" g%@'\/&. o rmax O&*?OjZo/cny//\



D JBRHGw)) < L 27

ceC

A ) n-r- Z.
AP G

o(%)

3 /@+/4/(?t)</féé agz£
/¢

’ / s /;m// A

7% &uoa/

/Oécoozn = &,vcr') x p 747@/ Oélﬁé )
“ / coolecscscole - Blllx t").

Foocd?  Gentbw A o o Bt B
A‘y 7 Geormethirc ‘é.mmcl),

5)%556 Jocefo,(fr)z G. .. 4,,6(.0
v A(G, x) < zO. #o

s
— )



(C?, N) < n//—Zg’) P Vc.'-f/

g &> = n
<é‘:/ -‘55) )n[/—2t‘)_ ,Vc
2;-’ @‘n ove %o/ an o('€'/?
‘VL = C;:- 0(3?
5 Tey <eyo<e
2 com  copalock
6#/. o< e/

<u, vy = <&§-ux fm— o 50
/ ~ o
_ (~/§:> _“<£,5>+<g/;))+yi—(x,x)
< n[//—zg) ~ Ju ['/—2‘3) ‘/’o(i]
= [l (-20) T+ (725)- K/—Zt)j

R w= f2e = v &f (F28) < (F22)7

rc c < f[f—-—ﬂf—zf)

Y.
/?eeo/ M//e;c £oé :

/%: /ocséf r)em/o./ evoéo 74»';

el 8a. € '—j C‘Ooéﬁ*-’c""?/
ccc/%/cm'vawoxé eval/
oy

Wi



/?680(— /%)//&C %’Sem/ G_VZQ:O 74' mc,//‘vc;?(rq/é

re - Vo.?rrcvé X7/ )Q /Y X /-'_/— /"/DK/
//"_/X,,)Q X,,,] = z"(ry;/ /o&;ocmfo‘/»?

é;ué%]i. X%Z - %ﬂ%& A'CL};/‘mwmkmétpéé

? S < <
/Dé(; i Xm) = /3, G ‘X; )Qc-- Xm")
5..€m
2§ <
GSQSf/
(o < MZ?#//

5\/0.,4&745‘7 fﬁ/ = ?f_h /ﬁﬁ_ cn?‘(éaa §oucc_/
ﬁﬂ%/a/#;744

1Y Cmys) = ol (ol »c.,))/én /,oeg,‘:ﬂ&.. an

é;.%;m%

Q{meoéfoﬁ = /4’2% Q,,)G,Z%om O< s ?.4 ;.E
A5 (my ) //‘Zé:gh;

VZ; <£Aéy$wﬁ é;ri%m& *<?

62) Z’mﬂ)’ gf/%y ?=Z.



) Lot o%fcee 367 /sz<<7>)

2& <% /n}p/c_s oL « S?‘/
565 = /2
ﬁféém/ Aole.:

/AN (fZ/ PE f,:_/)c Knj/- ﬂt<7, f_?‘o
RS p&) #o) > /- x
7

< pm
=%

é‘wczo/ 0747’) e/ ofife maoéa

Cn/vasrr o 7é Cade )

Ar)/ /)%oa/w/ o’e/ (J/I i Oof// Kc;?%’

/= %
78/

62 / E na?c/ My : ?s)_

A (%)= /7. &) 62%/ qefo,f/quff
%
- 207 < (%)

Lemma (32)« pe B L5 Xof; F=F,  p#O .
RL ] > f (B e [%)

aec M



ﬁmmn gej’)e;(ag?oﬂér) /é /l‘é aé»ve 2 Q/Q'mmg

3
G5 ) Sl ] /’m J

P[,o(a) #f - éy

//\/Czémco 2—5( = O / @<(<7-/
~/ o c=/a-/

D aigt - //2}/

K)ol éor
= 0 / (5.s)#
(A7t 97)
7,(’ x7 Xa—,&q 7" X X,



K?/‘; [m,ﬁc) - /79/; [ mE) —;z—/)
/\%ﬂéj; Q(mcné/oﬂr

—#—-—

RIY Go) "= RIT, (i, mgl) ~n=1).

e — —

4/{;@0&/ Cager / /@//{ /m,%)

@ ?’2/ k’{ - w&éoscy
R, (o, /j ‘[27 mr/, ijgoo/q.

Sholorrasco! 2ok

[2’7 ) ZMZZ-@cé

-
/z/m - ‘?/ %{ A-//TSIZW’
AN

LE/@ 54/0/ o [_QM-// mt/, 2MZ~ cool.
(‘5"7/06 ché/

fhat & A ozmzj/ &7 ()
= /@/i(n} M-L)

Do it )27 2] 4] cocte
eve/ af ovion






